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Problems sets with multiple choice questions (MCQs) and short-answer questions are often given to students as assignments
to check their own progress. After students have submitted their answers, tutorials are often arranged to address students’
questions. Due to different constraints, some tutorials need to be conducted with a large class within normal class hours.
However, some students are often too shy to ask questions, while some others are too eager to do so. To avoid the class
being dominated by a few individuals and to utilise the limited tutorial time more effectively, a matrix has been developed to
summarise students’ choices of any problem set with tens of multiple choice questions answered through the CU elearning
system (Blackboard Learn). Using the matrix, teachers and students can see with ease and objectivity where the problematic
questions lie and discussions can be focused on those first.

During the talk (T11, 14:45-15:15, LSK202), | will demonstrate how to use the CU elearning system to generate statistics for
feeding into the matrix and how | use the matrix to drive effective discussions during my tutorials.
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only 56 of the 214
students got it right.
Many (97) students
chose E instead.

58 students did not answer
Question 29

A typical matrix showing results of
30 MCQs from 214 students
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b.Glycogen will be obtaincceiulose
b.Glycogen will be obtaincceliulose
b.Glycogen will be obtaincceiulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glvcogen will be obtained from the bun. c.cellulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glvcogen will be obtained from the bun. c.cellulose
b.Glyvcogen will be obtained from the bun. c.cellulose
d.Cellulose will be congeceliulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glycogen will be obtained from the bun. c.cellulose
b.Glycogen will be obtained from the bun. b.glvcerol
b.Glvcogen will be obtained from the bun. c.cellulose
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b.Glvcogen will be obtained from the bun. c.cellulose
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c.a cell fror d.not allow c. Both planb.lys

c.a cell frord.not allow c.Both planb.lys

c.a cell frord.not allow c.Both planb.lys

c.a cell frord.not allow c.Both planb.lys
c.a cell fror d.not allow c Both plan e.0N;
c.a cell fror d.not allow c.Both plan e DN,
c.a cell frord.not allow c.Both planb.lys
c.a cell fror d.not allow c.Both planb.lys
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c.a cell frord.not allow c.Both plan b.lys
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wuiy | Test Statistics: Problem Set 1

The statistics are calculated based only on the attemptis being used in the grading option (Last attempt, First attempt, Lowest Score, Highest Score, or Average of Scores). If Average of
Scores is the grading option, then all attempts are included in the statistics.

Mame

Score

Attempts

Graded Attempts

Attermpts that Need Grading

Problem Set1

41.63551

213 (Total of 213 attempts for this assessment)
213

0

Instructions For 1-40 (multiple choice questions), choose the best answer for each question; one mark will be given for a correct answer.
For Q41-45 (short-answer questions), enter your answers in the space provided.
Make sure you save your answers frequently.
With your answers saved, you may close the browser and resume the test anytime befare the deadline.
Remember to have your test submitted by clicking the "Save and Submit” button before the deadline. Good luck!
Alignments
Question 1; Multiple Choice Average Score 1

points

Living organisms are composed mainky of which atoms?

Correct Percent Answered
Calcium, hydrogen, nitrogen, and oxygen 0%

] Carbon, hydrogen, nitrogen, and oxygen 100%
Hydrogen, nitrogen, oxygen, and helium 0%
Carbon, helium, nitrogen, and oxygen 0%
Carbon, calcium, hydrogen, and oxygen 0%
Linanswerad 0%

Question 2: Multiple Choice Average Score

0.97183 points

A covalent bond is likely to be polar when

Correct

Percent Answered

Test statistics view
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E . - =Y 1 1 [ split 11 View Side by Side =)
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_Ll u _ﬁ _i‘ E ™ Hide [ Synchronous Scrolling EE‘ % =
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| D1 - | v
A B C D A
1 *  Question 1: Multiple Choice
Average Score 1 points
=
=
Living organisms are composed mainly of which atoms?
a
Correct |Percent Answered
5
. Calcium, hydrogen, nitrogen, and oxygen 0%
]
S Carbon, hydrogen, nitrogen, and oxygen 100%
2 Hydrogen, nitrogen, oxygen, and helium 0%
o Carbon, helium, nitrogen, and oxygen 0%
10 Carbon, calcium, hydrogen, and oxygen 0%
Unanswered 0%|
11
- *  Question 2: Multiple Choice
Average Score 0.97196 points
13
14
w
M 4 + M| Attempts statistics - copy from colurmn D Sheet3 -~ #2J nEl! ] |
Ready | Average: 0166666458 Count: 280  Sum: 39.99995 ||E| M 120% (=)

EN . |I- Ii:l £
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Clipboard [F] Font [F] Alignment [F] Mumber ] -
| c1o -0 £ | 100
A B C D E F <] H 1
1 PercentPercent APercent APercent APercent APercent APercer
2 0 097196 0.00467 0.60748 0.05607 0.07009 0.02804 0.01402 0.0514 0 0.21028 ol
3 1 0 0 0.02336 0.01869 0 096262 0.00935 0.90187 0.06542 0.73832
a 0 0.00935 0.01869 0.24299 0.8271 0.00935 0.00467 095794 0.01402 0.00935 0 0
s |Percent Answered 0 0.00467 0.96729 0.12617 0.07009 0.07477 0.00467 0.01402 0.00935 0 0.00467 0
6 0% 0 0.01402 0.00935 0 0.02804 0.84579 0 0.00467 0.02336 0.92523 0.04206
7 100% 0 0 0 0 0 ] ] 0 0 0 0.00467
2 0% Times Me - 18— A o7 EE - s, s 5
B 0% B 7 = & - A - - %8 5%
;l 0% I ';‘"‘ICLIE oo a0 100 100 100 100 100 100 100 100
11 0% B3 copy b 100 100 100 100 100 100 100 100
12 @ | Paste Option=: D 100 Lo, LOc, 100 s 100 100 100 100
N e — el
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ear Contents di] U1 (o alues () Column widths
10 Percent Answered :‘Ilt content N I'-‘_asl ‘_E'Iues_; ormats (Z) Formulas and number formats
17 fer 123 lz.i ]21_3( ) Comments () Values and number formats
s 9720% Sort L4 ?.t_her Pasle ﬁpﬁoﬂ () Validation All merging conditional formats 2 14 2 14 2 14 2 14
19 0% | %] [==] ] | cpmster 214 214 214 214
20 0.94% Pick From Drop-down List.. e @ ag 214 214 214 214
21 0.47% Define Name... 4 214 g 214 214 214 214
2 1.40% & tpenink__ -1 214 | Oswbks [ Transpose 214 214 214 214
2 0% 214 214 214 214 | 214 214 214 214
24 ———— e S
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10

1

12

13

14

15

17

18

19

20

21

22

23

24

Percent Answered
0%
100%
0%
0%
0%
0%

Percent Answered
97.20%

0%
0.94%
0.47%
1.40%

0%

PercentPercent APercent APercent APercent APercent APercent APercent APercent APercent APercent A Pe'._s

0 097196 0.00467 0.60748 0.05607 0.07009 0.02804 0.01402 0.0514 0 021028 0
1 0 0 0.02336 0.01869 0 0.96262 0.00935 0.90187 0.06542 0.73832
0 0.00935 0.01869 0.24299 0.8271 0.00935 0.00467 0.95794 0.01402 0.00935 00
0 0.00467 0.96729 0.12617 0.07009 0.07477 0.00467 0.01402 0.00935 0 0.00467 0
0 0.01402 0.00935 0 0.02804 0.84579 0 0.00467 0.02336 0.92523 0.04206
0 0 0 0 0 0 0 0 0 0 0.00467
0 97.196 0467 60.748  5.607  7.009  2.804 1.402 5.14 0 21.028
100 0 0 2.336 1.869 0 96.262 0935 90.187  6.542 73.832
0  0.935 1.869 24299  82.71 0.935 0.467 95.794 1.402  0.935 0
0 0467 96.729 12.617 7.009 7477 0467 1.402  0.935 0 0467
0 1.402  0.935 0 2804 B84.579 0 0467 2336 92.523 4.206
0 0 0 0 0 0 0 0 0 0 0467
0 207.999 0.99938 130.001 11.999 14.9993 6.00056 3.00028 10.9996 0 449999 0
214 0 0 4.99904 3.99966 0 206.001 2.0009 193 13.9999 158
0 2.0009 3.99966 51.9999 176.999 2.0009 0.99938 204.999 3.00028 2.0009 0
0 0.99938 207 27.0004 14.9993 16.0008 0.99938 3.00028 2.0009 0 0.99938 0
0 3.00028 2.0009 0 6.00056 180.999 0 099938 4.99904 197.999 9.00084 1
0 0 0 0 0 0 0 0 0 0 0.99938
B (Ctrl) -
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LSCI1002 Introduction to Biological Sciences  Key:

Top row of each submatrix Problem Set 1 Shaded region = Correct answer
. Number in matrix
QueStlon hum ber 1 2 3 4 5 6 7 8 9 10 = No. of students choosing a particular
" (e.g. 1-10, 11-20 etc.) Al O 2081 1 BEHSHY 12 | 15 6 3 i | 0 : cPf\oige in abpar;cicglar t'iuedstio?d ,
*No. of studentscan be replaced by % of students if desirable.
B|214 O 0 5 4 0 206 2 193 14
Side of each submatrix c| o 4 52 PR 2 | 1 p@ES) 3 | 2 Least students
Choices Dl o | 1 EEM 2715|161 3|20 got it right
(A-E & unanswered) El O 3 2 0 6 81 O 1 5 198
Nkt | |o|o|o|o|o]|o]o|o o]0
/ For Question 12, 11 (12 | 13|14 (15|16 (17|18 (19 | 20
Al45s 1 59 3 1 148 2 o0 180 19
- . Bj1ss o [l 0 o 10 201 214 23 173
c 201 % 201 2 O Sy 46 | 3 0 0 8
b 1 1(1(3|6|0|0|7|0]| 3|12
E 11 E| 9 (11| O 2651 O (10| 1 0 8 2
\_ Nere 0 1(o/o/o|ololololo]o0
Most students
21 (22 (23 (24 (25 (26|27 |28 | 29 | 30 got it right
E — 35 189 12 10 162 9 64
orauestion 22, = 5 4 170 3 | 23
only 56 of the 214 ol 3|8 13|21 5
students got it right.
Many (97) students 110|78|5)27/12|16 58 students did not answer
chose E instead. 97 173 18 58 15 © 7 1 Question 29

olo|1]1]1]s8:3\

0|0 | 2

A typical matrix showing results of
30 MCQs from 214 students



Test Statistics: Problem Set 1 + Problem Set 1 (supp)

The statistics are calculated based only on the attempts being used in the grading option (Last attempt, First attempt, Lowest Score, Highest Score, or Average of
Scores). If Average of Scores is the grading option, then all attempts are included in the statistics.

Content

MName

Score

Attempis

Graded Atiempts

Attempts that Need Grading

Instructions

Alignmenis

Question 1: Multiple Choice
Average Score 1 points

Question 2: Multiple Choice
Average Score 0.97196 points

Question 3: Multiple Choice
Average Score 0.96729 points

Problem Set 1+ Problem Set 1 (supp)

41.63551

214 (Total of 214 attempts for this assessment) [171 for Q29-30 in Problem Set 1 (supp)]

214

0

For @1-40 (multiple choice questions), choose the best answer for each question; one mark will be given for a comrect answer.
For Q4 1-45 (short-answer questions), enter your answers in the space provided.

Make sure you save your answers frequently.

With your answers saved, you may close the browser and resume the test anytime before the deadline.

Remember to have your test submitted by clicking the "Save and Submit” button before the deadline. Good luck!

Living organisms are composed mainly of which atoms?

Correct Percent Answered
A Calcium, hydrogen, nitrogen, and axygen 0%
/1 B Carbon, hydrogen, nitrogen, and oxygen 100%
¢ Hydrogen, nitrogen, oxygen, and helium 0%
p Carbon, helium, nitrogen, and oxygen 0%
E Carbon, calcium, hydrogen, and oxygen 0%
Unanswered 0%

A covalent bond is likely to be polar when

Correct Percent Answered
] A one of the atoms sharing electrons is much more electronegative than the 97 20%
ather atom.
B the two atoms sharing electrons are equally electronegative. 0%
C oxygen is one of the two atoms sharing electrons. 0.54%
D one of the atoms has absorbed more energy than the other atom. 047%
E the two atoms sharing electrons are different elements. 1.40%
Unanswered 0%

2012-elearn attempt statistics-formatted



Question 23: Multiple Choice
Average Score 0.26168 points

A transmembrane protein in the plasma membrane is glycosylated at two sites in the polypeptide sequence.
One site is Asn-Val-Ser and the other site is Asn-Gly-Thr. Where in this protein would you expect these two sites

UTiiEwWersa

to be found?

Comect

Question 24: Multiple Choice
Average Score 0.80841 points

What structural features of a membrane are major contributions to its selective permeability?
Correct

m oA @ P2

[an = o T - - s - ]

in transmembrane segments

in hydrophilic regions that project into the extracellular environment
in hydrophilic regions that project into the cytosol

could be anywhere
B and C only

Unanswered

Phospholipid bilayer
Transport proteins

Glycolipids on the outer surface of the membrane
Peripheral membrane proteins on the inside of the membrane

Both A and B

Unanswered

U

=

May
Fig. 5.16 (p125]

Percent Answered
14.02%

26.17%

4.67%

£.88%

45.33%

0.94%

Percent Answered
16.36%

2.34%

0%

0.47%

80.84%

0%

Q23
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uReply report for session

698
&
7\
Full report for session: 698. (December 6, 2012, 2:39 pm)
Question number: 1 Total answered response(s): 57
Question text: Number of answers: 2

A. Hydrophilic
B. Hydrophobic

16 i
(80.7%) (19.3%)
/A 2/B
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=

kub copytol )

currentrow = "4al"
currentcol "alt

For x = 1 To &00

If Rangefcurrentrow) Offset{r, 03 Value = "Percent dnswered" Then
Range(currentrow) . Offseti{r, 0).2elect

Zelectlon.Resize(Selectlon. Rows . Count + 7, 1).2elect
Selection, Copy

Range(currentcol ). Offzet(0, c).Select
fctlvedheet Paste

c=10c+1

I r+ 1

Else:
Fange{currentrow) Of fsetir, 0).3elect

r=1+1
End If

MNext x

End Sub

Macro



